1 I 2 3 Y]7 ‘ 4 5 6

39'-4" (12 m) TL3 end terminal (SRB-3102) m
SAFENCE 3RC-06

I : ‘ EErnns
L] L L] L i L L ] & | |
SAFENCE 4RC-06
|
_— == ;:E 2 ‘ ‘
-] [ [ 1‘ 0 T ! BE T
= ] B | i 1 g B ] =L & B B B ]

Concrete footing C-Ground cover SAFENCE 3RC-06 SAFENCE 4RC-06

= C-Cap (D-3010A) ‘
C-Stiffening pin (D-3042A) '

Concrete anchor (D-3017)

C- & I-Concrete footing rebar

-—

- End anchors can either be cast on site or prefabricated. (D-3049A)
- Anchors are to be aligned with wire rope safety fence. — =
— - Embedded wire fitting are to be placed at ground level, «/\\: 5/ C-Plastic sleeve
§§ be placed horizontally at the side of the road and follow = 2 (D-3050A) footi C-Stiffening frame (D-3011A)
S| the slope of the road longitudinally. g c C-Concrete footing .
=2 - Backfilling around end anchors are to be done with gravel, ol E (D-3012) —
which is vibrated. 3 2 . =
- Anchors are to be well covered. AR C- & I-Plastic spreader 4 wires
v )

(D-3020A) - (x3)

Size of concrete footing depends on ground condition.
Cast on site footings might impliy a need of C- & I-Concrete

footing rebar (D-3049A) and C-Plastic sleeve (D-3050A). Steel rope - (x3)

Anchor embedded part (D-3018A)

Wire fitting (D-3023A) Alternative post footing (passing bridges etc.) _ - Steel rope - (x4)
Base plate anchored in road paving. TL3 & TL4 elongation classifications
.’ Base plate 800x800 (D-3006B/D-3013B) is milled Post distance imper'!'al metric
down > 60 mm in roadway surface and glued using epoxy. L5m 43.3 1im
2.0m 51.2" 1.3 m
2.5m 59.1° 1.5m C-Post 1230 mm Pin & Plate (D-3008E)
g-g m 91‘8-- % g m C-Post 1900 mm Pin & Plate (D-3008F)
Check rope and Safety shackle (D-3028A) Bolt M8x70 C-Post (D-3008E) 4.0m 78.7" 2.0m
5.0m 90.6" 23 m
Washer M8 6.0m 98.4" 2.5m .
Nut M8 70m 106.3" 27m C-Stiffening plate (D-3043A)
29 8.0m 114.2" 29m
9.0m 122.0" 31m
i 10.0 m 130.0" 3.3 m
SAFENCE 3RC-06 SAFENCE 4RC-06 C-Base plate 800x800 (D-3013B) Road paving
. o . L Tensioning table
"k = 3 Base plate anchored in the longitudinal concrete beam. T[°C]| T[F] | [bf] | [kN] | [bar]
g Embedded bolts plate (D-3014A) is casted into the concrete beam. 220 4 1575 | 255 | 290
— - — Base plate must not be in conductive contact with reinforcement bars. -10 14 [5050 | 22,6 | 250
Ny e | Ny Lateral movement 0 32 14400 | 196 | 220
o = Sl K o - D 10 | 50 [3750]| 16,7 | 190
g < =Y YDe T g C-Post (D-3008A) Lateral movement to bypass 20 68 [3100] 13,7 | 150
— NN T TN - = : : 30 86 [2400]| 10,8 | 120
o = N = Py obstacles (bridge piers etc.) are to be 20 104 11750 7.8 90
0 = JoRIRSIS= = Y Bolt M8x70 Nut M24 - (x4) conducted gradually to prevent wire .
3 § I~INE8 § % Waslt\]eg mg Washer M24 - (x4) rope fence posts from being exposed Mounting in horizontal curves:
u _ high n f . Mounting is not recommended in horizontal curves with a radius < 400 m.
yvyvyy y C-Base pIate 250x250 to very high transverse forces If needed please contact Safence, Inc.
\T [ T i A (D'3016A) Mounting in vertical
=) ounting In vertical curves:
AL l C-& I-Eggg?gz(; bolts Concrete beam Mounting should not be executed in depressions with a radius < 1 200 m.
Lateral movement, D[m]: | 0,5 1,0 | 1,5 | 2,0 T For any further enquiries regarding installation or working features of
Transition distance, X [m]: 40 50 60 70 =] SAFENCE Wire Rope Safety Fence please contact Safence, Inc.
g‘ L g‘ Rigging screw assembly Drawn Date Acceptance standard Units Sheet size
) ) RDS 2014-10-03 NCHRP 350 mm [ft-in] A3
o o Wire fitting (D-3023A)
x C-Post profile (D-3008E) N Safence, Inc Name
b P b Rigging screw (D-3024B) Wire fitting (D-3023A) ’ - SAFENCE 3RC-06 & 4RC-06
1557 Ballard Way
\ Steel rope Seattle, Washington 98107 Drawing no. Type . . Rev
USA Median and side
SRB-3006 3 or 4 cable systems A
P o : - . o : ~EQQ” . Safence, Inc. accepts no liability for any changes made to enclosed drawings and documents of SAFENCE Wire Rope Safety Barrier system and terminal.
v Rigging screws are to be mounted at every ~300 linear meters [1 0007 and at ~150 linear meters [~5007] from anchorage point. These drawings are only to be used by State designers and engineers and may not be altered. Safence, Inc. is not responsible for any modifications or
B - changes to the enclosed documents.

1 2 | 3 4& ‘ 4 | 5 | 6



